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160 1.1% 82.6%

ASR Ad2= 115,000
13
n= 85.0% 2.4%
846,615 52,560 95,265
698,791
ASR
29 16 82.6% 85.0% 698,791

81.6%



29 16 82.6% 85.0% 698,791
50% 16 82.6% 85.0% 746,423
29 50% 82.1% 84.5% 725,071
50% 50% 82.1% 84.5% 772,703
2/3 16 82.6% 85.0% 762,300
50% 16 82.6% 85.0% 651,159
29 50% 83.2% 85.6% 672,511
50% 50% 83.2% 85.6% 624,879
100% 16 82.6% 85.0% 603,526
29 100% 83.7% 86.1% 646,231
100% 100% 83.7% 86.1% 550,967
29 16 60 82.6% 85.0% 727,666
29 16 100 82.7% 85.1% 650,666

N=5,148 Ne=750 B=1% T=3% L=1.5% rg=99% rr=89% r =60% Ge=29 Gd2=16 Wge=Wgd2=0.586







2002 12 2003 1

A
A
kg 568,130 | 475420 | 1,043,550
1,054 731 1,785
1 ka/ 5390 6504 584.6
b
kg 675230 | 64.71
kg 16,216 155
ASR kg 352,104 | 3374
kg 1,043550 | 100.00
1 ASR 197.3 kg/
1100kg  ASR 17.93 %
B
kg 436,200
740
1 ka/ 589.5
[
kg 286,200 | 6561
kg 7,930 1.82
ASR__ kg 142070 | 3257
kg 436,200 | _100.00
1 ASR 192.0 kg/
1100kg  ASR 17.45 %
586.0 kg/ -
ASR 3340 W/ -
1 ASR 195.7 kg/ -ELV
W=1,100kg ASR 17.79 %/ -ELV

100%-17.79%-55% 76.71% B T L 55%



BTL 479 41,97
1.03 40.90
2.92 1.07
A 292 76.40
21.13
13.30
H10 BTL 564 35.69
1.00 34.82
3.12 0.87
B e 75.93
20.82
19.42
BTL 482 36.42
0.99 35.58
2.43 0.84
c 1.40 76.64
0.27
22.86
H11 17.09
BTL 559 68.04
0.97 62.19
D 261 585 72.20
2.01
1.55
BTL 553 6173
1.33 58.40
2.87 3.33
1.33
E L5 76.91
6.85
5.46
2.36
H13 BTL 6.16 63.05
1.10 58.83
3.10 4.22
1.96
F L% 75.03
11.84
2.23
8.86
BTL 561 3637
1.08 35.47
c 2.96 0.90
Hia | S 157 76.70
0.61
21.22
18.50
BTL 543 4587 76.27
D
36 68% 76 77
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